'GROUP 2 ENGINE SYSTEM

1. ENGINE AND ACCESSORIES MOUNTING

@

- Tightening torque

VA

ltem Size kgf - m [bf - ft
1 | M8x125 25105 18.1+3.6
2 | M10x1.5 69+t14 49.9+10.1
3 | M12x1.75 10£1.0 72.3+7.2

9-2

Air cleaner =

1107A9CMO1

ltem Size kgf - m [bf - ft
4 | M16x2.0 30+35 217+25.3
55+3.5 398+25.3

M20 x 2.5




2. COOLING SYSTEM AND FUEL TANK MOUNTING

Fuel tank

Hyd tank

N

g g 'j“/"

i_r conditioner ’
idle pulley e,

Cooler & radiator

@ | ‘L
|
E 0
@
S ® Receiver drier — 1
Condenser
, VIEW A
@ |
54§ Charge
air cooler
54
6 /70" cooler
Needle valve Radiator
—Fan guard
1107A9CM02
- Tightening torque
ltem Size kof - m Ibf - ft Item Size kgf - m Ibf - ft
1 M6x1.0 1.05+0.2 7.6+1.45 4 M12x1.75 12.8+3.0 92.6+21.7

M8x1.25 25+0.5 18.1+3.6 5 M20 x 2.5 45+5.1 325+36.9
M10x 1.5 69+14 49.9+10.1 6 - 2.3+0.6 16.6+4.3




